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KKT Coditios (o5 sixed on Wikppedia)

minimize f(x)

optminabon PRoHeun

subject to

gr(x) <0,
hj(x) = 0.

La(y/low\yf'ww L(x,u,A) = f(x) + p' g(x) + A" h(x)

Theorem. If (x*, ") is a saddle point of L(x, ) in x € X, u > 0, then X" is an optimal vector for the above optimization problem.
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So, Choe A based on
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(a) Permute indices so that p(s)as = p(s + 1)ast1

(b) Set b equal to the minimum positive value of

L=m where p; = Zp ,O’t:za—
S

l1—-0
t 1

(c) Set a(s) = p(s) — b/as or zero, whichever is larger. (The a(s) will sum to
1-10.)




Tiebeskyy Fact (cose 3 0ans, (*P<l, R>0))

One of the results in the paper is that there exist horses with true probabilities and odds that make bets on the horse negative EV. Yet Kelly betting on the horse suggests
wagering some amount of your bankroll anyway.
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